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(2] Fol)=12+ o = 80(m?)

(A 7o) Yol)= 80 + 0.625 = 128( m?)
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11. ] Holrk 2826 cm? %1 Yol 45 45

HE2]5)x (FFA]8)x3.14 = 2826( cm?)
(§F2]8)= 30 cm
UF)=30x 2 x 3.14 = 188.4(cm)
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22 2]29] 4o]7} 22t 12 cm, 16 cm@] F Yo HIA] 2, A5 Ho]
A588 Astato] Uebd AT 2R AL Ae] 7|55 240
ZAZ29] |Hx]E 2
SR g gol  |axe
Zol | Rl
12em | @6em | 37.68cm | ©113 04em? | 3.14
16em | 8em | ©25.12cm| 200.96em? | ©3.14
>
> HE. O
(A E) Do) = (A5 Dol)=2, (%) = (A5 2
o])x3.14
(99 Hol) = (§tA59] 4o]) x (¥tA59] 4o]) x3.14
@211 o] Z0]7} 16( cm) |22
YFE= 16 x 3.14 = 50.24(cm) FY
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(=8ol7t 2+ A=)

=100 x 2+(5t2]Fo] 7m<l Y] UF)

=200 + (14 x 3.14) = 200 + 43.96 = 243.96(m)
(Aol 21 Ad)

=100 x 2+(¥F2]5°] 5m<Q L L)

=200 + (10 x 3.14) = 200 + 31.4 = 231.4(m)
(278017t 21 A et Aot D A9 o)
= 243.96 + 231.4 = 475.36( m)




